Transfers Report

This report contains the transfers results.

Contest Name	Ward 3 - Paisley Northeast and Ralston	
Valid Votes	4,581	
Positions to be Filled	3	
Quota	1,146	

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Jennifer Marion ADAM-MCGREGOR	Scottish National Party (SNP)		1,843
Graeme CLARK	Scottish Labour Party		1,556
Neill GRAHAM	Scottish Conservative and Unionist		909
Alan MCINNES	Scottish Liberal Democrats		273
		Total	4,581

Candidate Jennifer Marion ADAM-MCGREGOR Elected with 1,843 votes, being in excess of the quota of 1,146 Candidate Graeme CLARK Elected with 1,556 votes, being in excess of the quota of 1,146

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Jennifer Marion ADAM-MCGREGOR			697.00000
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neill GRAHAM	92	0.37818	34.79256
Transfer to Alan MCINNES	936	0.37818	353.97648
No further preference	815	0.37818	308.21670
Not transferred due to rounding			0.01426
	Total		697.00000

Transfers Report

This report contains the transfers results.

410.00000

Stage 3 - Surplus of Graeme CLARK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neill GRAHAM	341	0.26349	89.85009
Transfer to Alan MCINNES	725	0.26349	191.03025
No further preference	490	0.26349	129.11010
Not transferred due to rounding			0.00956
	Total		410.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Alan MCINNES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neill GRAHAM	144	1.00000	144.00000
Transfer to Neill GRAHAM	422	0.37818	159.59196
Transfer to Neill GRAHAM	350	0.26349	92.22150
No further preference	129	1.00000	129.00000
No further preference	514	0.37818	194.38452
No further preference	375	0.26349	98.80875
Not transferred due to rounding			0.00000
	Total		818.00673

818.00673